	<u></u>	C24-06-01 "Millir	ng and Res	urfacing of C	ounty Roads				
	Havenwood Meadows Drive - Hillsdale Rd. to 800	ft. South of Bernade	tte Dr.	David Er	terprises	E&B Pav	ring, LLC	J.H. Rudolph	and Co., Inc.
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$6,300.00	\$6,300.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$3,000.00	\$3,000.00
3	Surface Milling	SYD	4,385	\$0.81	\$3,551.85	\$1.35	\$5,919.75	\$1.40	\$6,139.00
4	HMA Surface, 9.5 mm 1.5", Type B	TONS	362	\$81.00	\$29,322.00	\$84.00	\$30,408.00	\$85.50	\$30,951.00
5	HMA Patching, 25.0 mm Base (4.5")	TONS	30	\$155.00	\$4,650.00	\$244.00	\$7,320.00	\$278.00	\$8,340.00
6	Compacted Aggregate #53	TONS	39	\$105.00	\$4,095.00	\$60.00	\$2,340.00	\$72.00	\$2,808.00
7	Geogrid	SYD	120	\$1.51	\$181.20	\$1.15	\$138.00	\$1.30	\$156.00
8	Curb Ramp	EACH	4	\$3,800.00	\$15,200.00	\$3,660.00	\$14,640.00	\$3,660.00	\$14,640.00
				Subtotal	\$61,400.05	Subtotal	\$63,995.75	Subtotal	\$72,334.00
	Johannes Court - Bernadette Drive to Bernadette	Drive							
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$6,200.00	\$6,200.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$2,900.00	\$2,900.00
3	Surface Milling	SYD	4,253	\$0.81	\$3,444.93	\$1.35	\$5,741.55	\$1.40	\$5,954.20
4	HMA Surface, 9.5 mm 1.5", Type B	TONS	351	\$81.00	\$28,431.00	\$84.00	\$29,484.00	\$85.50	\$30,010.50
5	HMA Patching, 25.0 mm Base (4.5")	TONS	30	\$155.00	\$4,650.00	\$244.00	\$7,320.00	\$278.00	\$8,340.00
6	Compacted Aggregate #53	TONS	39	\$105.00	\$4,095.00	\$60.00	\$2,340.00	\$72.00	\$2,808.00
7	Geogrid	SYD	120	\$1.51	\$181.20	\$1.15	\$138.00	\$1.30	\$156.00
8	Curb Ramp	EACH	3	\$3,800.00	\$11,400.00	\$3,660.00	\$10,980.00	\$3,660.00	\$10,980.00
9	Sidewalk Replacement	LFT	20	\$56.00	\$1,120.00	\$82.00	\$1,640.00	\$82.00	\$1,640.00
	·			Subtotal	\$57,722.13	Subtotal	\$60,873.55	Subtotal	\$68,988.70
	Bernadette Drive - St. Giles Court to Johannes C	ourt							
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$3,600.00	\$3,600.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$1,700.00	\$1,700.00
3	Surface Milling	SYD	2,444	\$0.81	\$1,979.64	\$1.35	\$3,299.40	\$1.40	\$3,421.60
4	HMA Surface, 9.5 mm 1.5", Type B	TONS	202	\$81.00	\$16,362.00	\$84.00	\$16,968.00	\$85.50	\$17,271.00
5	HMA Patching, 25.0 mm Base (4.5")	TONS	10	\$155.00	\$1,550.00	\$244.00	\$2,440.00	\$278.00	\$2,780.00
6	Compacted Aggregate #53	TONS	13	\$105.00	\$1,365.00	\$60.00	\$780.00	\$72.00	\$936.00
8 7	Geogrid	SYD	40	\$1.51	\$60.40	\$1.15	\$46.00	\$1.30	\$52.00
	Coogna	015	10	Subtotal	\$25,717.04	Subtotal	\$26,763.40	Subtotal	\$29,760.60
	Edgewater Drive - Weiss Road to Dead End								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$8,000.00	\$8,000.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$3,700.00	\$3,700.00
3	Surface Milling	SYD	5,472	\$0.81	\$4,432.32	\$1,450.00 \$1.35	\$7,387.20	\$1.40	\$7,660.80
4	HMA Surface, 9.5 mm 1.5", Type B	TONS	452	\$81.00	\$36,612.00	\$84.00	\$37,968.00	\$85.50	\$38,646.00
4 5	HMA Patching, 25.0 mm Base (4.5")	TONS	432 60	\$155.00	\$9,300.00	\$244.00	\$37,908.00 \$14,640.00	\$278.00	\$16,680.00
6	Compacted Aggregate #53	TONS	78	\$105.00	\$9,300.00 \$8,190.00	\$244.00 \$60.00	\$4,680.00	\$72.00	\$5,616.00
6 7	Geogrid	SYD	78 240	\$105.00	\$8,190.00 \$362.40	\$60.00 \$1.15	\$4,680.00 \$276.00	\$72.00 \$1.30	\$5,616.00
1	ocogitu	510	240	Subtotal	\$362.40 \$63,296.72	Subtotal	\$276.00 \$68,181.20	Subtotal	\$312.00 \$80,614.80
	Estate Drive - Edgewater Drive to SR 65								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$3,100.00	\$3,100.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$1,500.00	\$1,500.00
2	Surface Milling	SYD	2,168	\$2,800.00 \$0.81	\$2,800.00 \$1,756.08	\$1,450.00 \$1.35	\$1,430.00 \$2,926.80	\$1,300.00	\$3,035.20
3	HMA Surface, 9.5 mm 1.5", Type B	TONS	2,168	\$0.81 \$81.00	\$1,756.08 \$14,499.00	\$1.35 \$84.00	\$2,926.80 \$15,036.00	\$1.40 \$85.50	\$3,035.20 \$15,304.50
		TONS							
5	HMA Patching, 25.0 mm Base (4.5")		30 30	\$155.00 \$105.00	\$4,650.00 \$4,005.00	\$244.00 \$60.00	\$7,320.00 \$2,240.00	\$278.00	\$8,340.00
6	Compacted Aggregate #53 Geogrid	TONS SYD	39	\$105.00 \$1.51	\$4,095.00	\$60.00	\$2,340.00	\$72.00 \$1.30	\$2,808.00
7			120	\$151	\$181.20	\$1.15	\$138.00	4 51.30	\$156.00
7	Geogra	310	120	Subtotal	\$29,581.28	Subtotal	\$30,990.80	Subtotal	\$34,243.70

	Fuquay Road - from Pollack Avenue to Covert Avenue								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$8,600.00	\$8,600.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$4,000.00	\$4,000.00
3	Surface Milling	SYD	5,898	\$0.81	\$4,777.38	\$1.35	\$7,962.30	\$1.40	\$8,257.20
4	HMA Surface, 9.5 mm 1.5", Type B	TONS	487	\$81.00	\$39,447.00	\$84.00	\$40,908.00	\$85.50	\$41,638.50
5	HMA Patching, 25.0 mm Base (4.5")	TONS	40	\$155.00	\$6,200.00	\$244.00	\$9,760.00	\$278.00	\$11,120.00
6	Compacted Aggregate #53	TONS	54	\$105.00	\$5,670.00	\$60.00	\$3,240.00	\$72.00	\$3,888.00
7	Geogrid	SYD	160	\$1.51	\$241.60	\$1.15	\$184.00	\$1.30	\$208.00
8	Striping, Thermoplastic, Solid Yellow	LFT	4,350	\$0.75	\$3,262.50	\$0.65	\$2,827.50	\$0.75	\$3,262.50
9	Striping, Thermoplastic, Solid White	LFT	4,928	\$0.75	\$3,696.00	\$0.65	\$3,203.20	\$0.75	\$3,696.00
10	Temporary Striping	LFT	504	\$1.00	\$504.00	\$2.55	\$1,285.20	\$0.85	\$428.40
11	Transverse Marking, Thermoplastic, Stop Line, 24"	LFT	30	\$9.00	\$270.00	\$5.95	\$178.50	\$9.00	\$270.00
12	Monument, Section Corner	EACH	1	\$2,100.00	\$2,100.00	\$3,340.00	\$3,340.00	\$1,800.00	\$1,800.00
				Subtotal	\$70,568.48	Subtotal	\$76,118.70	Subtotal	\$87,168.60
	Kleitz Road - from Kramer Road to Meier Road								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$15,400.00	\$15,400.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$7,200.00	\$7,200.00
3	Surface Milling	SYD	10,577	\$0.81	\$8,567.37	\$1.35	\$14,278.95	\$1.40	\$14,807.80
4	HMA Surface, 9.5 mm 1.5", Type B	TONS	873	\$81.00	\$70,713.00	\$84.00	\$73,332.00	\$85.50	\$74,641.50
5	HMA Patching, 25.0 mm Base (4.5")	TONS	40	\$155.00	\$6,200.00	\$244.00	\$9,760.00	\$278.00	\$11,120.00
6	Compacted Aggregate #53	TONS	54	\$105.00	\$5,670.00	\$60.00	\$3,240.00	\$72.00	\$3,888.00
7	Geogrid	SYD	160	\$1.51	\$241.60	\$1.15	\$184.00	\$1.30	\$208.00
8	Striping, Thermoplastic, Solid Yellow, 4"	LFT	9,600	\$0.75	\$7,200.00	\$0.65	\$6,240.00	\$0.75	\$7,200.00
9	Striping, Thermoplastic, Solid White, 4"	LFT	9,600	\$0.75	\$7,200.00	\$0.65	\$6,240.00	\$0.75	\$7,200.00
10	Temporary Striping	LFT	960	\$1.00	\$960.00	\$2.55	\$2,448.00	\$0.85	\$816.00
11	Transverse Marking, Thermoplastic, Stop Line, 24"	LFT	22	\$9.00	\$198.00	\$5.95	\$130.90	\$9.00	\$198.00
				Subtotal	\$111,349.97	Subtotal	\$119,083.85	Subtotal	\$142,679.30
	Marx Road - from Church Road to New Harmony Road								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$14,300.00	\$14,300.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$6,700.00	\$6,700.00
3	Surface Milling	SYD	9,809	\$0.81	\$7,945.29	\$1.35	\$13,242.15	\$1.40	\$13,732.60
4	HMA Surface, 9.5 mm 1.5", Type B	TONS	810	\$81.00	\$65,610.00	\$84.00	\$68,040.00	\$85.50	\$69,255.00
5	HMA Patching, 25.0 mm Base (4.5")	TONS	10	\$155.00	\$1,550.00	\$244.00	\$2,440.00	\$278.00	\$2,780.00
6	Compacted Aggregate #53	TONS	13	\$105.00	\$1,365.00	\$60.00	\$780.00	\$72.00	\$936.00
7	Geogrid	SYD	40	\$1.51	\$60.40	\$1.15	\$46.00	\$1.30	\$52.00
8	Striping, Thermoplastic, Solid Yellow, 4"	LFT	5,250	\$0.75	\$3,937.50	\$0.65	\$3,412.50	\$0.75	\$3,937.50
9	Striping, Thermoplastic, Dashed Yellow, 4"	LFT	437	\$0.75	\$327.75	\$1.15	\$502.55	\$0.75	\$327.75
10	Striping, Thermoplastic, Solid White, 4"	LFT	8,828	\$0.75	\$6,621.00	\$0.65	\$5,738.20	\$0.75	\$6,621.00
11	Temporary Striping	LFT	883	\$1.00	\$883.00	\$2.55	\$2,251.65	\$0.85	\$750.55
12	Transverse Marking, Thermoplastic, Stop Line, 24"	LFT	40	\$9.00	\$360.00	\$5.95	\$238.00	\$9.00	\$360.00
13	Monument, Section Corner	EACH	3	\$2,100.00	\$6,300.00	\$3,340.00	\$10,020.00	\$1,800.00	\$5,400.00
				Subtotal	\$99,359.94	Subtotal	\$109,941.05	Subtotal	\$125,152.40
	Southeast Browning Road - Kansas Road to Petersburg	Road							
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$7,400.00	\$7,400.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$3,500.00	\$3,500.00
3	Surface Milling	SYD	5,138	\$0.81	\$4,161.78	\$1.35	\$6,936.30	\$1.40	\$7,193.20
4	HMA Surface, 9.5 mm 1.5", Type B	TONS	424	\$81.00	\$34,344.00	\$84.00	\$35,616.00	\$85.50	\$36,252.00
5	HMA Patching, 25.0 mm Base (4.5")	TONS	25	\$155.00	\$3,875.00	\$244.00	\$6,100.00	\$278.00	\$6,950.00
6	Compacted Aggregate #53	TONS	34	\$105.00	\$3,570.00	\$60.00	\$2,040.00	\$72.00	\$2,448.00
7	Geogrid	SYD	100	\$1.51	\$151.00	\$1.15	\$115.00	\$1.30	\$130.00
				Subtotal	\$50,501.78	Subtotal	\$54,037.30	Subtotal	\$63,873.20
•									

				I		I		I	
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$300.00	\$300.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$300.00	\$300.00
3	Curb Replacement	LFT	5	\$96.00	\$480.00	\$176.00	\$880.00	\$176.00	\$880.00
4	Reset Curb Inlet Casting	LSUM	1	\$3,800.00	\$3,800.00	\$650.00	\$650.00	\$650.00	\$650.00
				Subtotal	\$8,680.00	Subtotal	\$4,760.00	Subtotal	\$2,130.00
	Skipping Stone Drive (patching and curb replaceme		-		Estended.	Unit Dates	Estended.	Unit Dates	Fortes de d
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$300.00	\$300.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$300.00	\$300.00
3	HMA Surface, 9.5 mm 1.5", Type B	TONS	6	\$81.00	\$486.00	\$84.00	\$504.00	\$85.50	\$513.00
4	HMA Patching, 25.0 mm Base (4.5")	TONS	25	\$155.00	\$3,875.00	\$244.00	\$6,100.00	\$278.00	\$6,950.00
5	Compacted Aggregate #53	TONS	33	\$105.00	\$3,465.00	\$60.00	\$1,980.00	\$72.00	\$2,376.00
6	Geogrid	SYD	100	\$1.51	\$151.00	\$1.15	\$115.00	\$1.30	\$130.00
7	Curb Replacement	LFT	38	\$96.00	\$3,648.00	\$176.00	\$6,688.00	\$176.00	\$6,688.00
7	Asphalt Sealant	LFT	120	\$1.00	\$120.00	\$0.25	\$30.00	\$15.00	\$1,800.00
				Subtotal	\$16,145.00	Subtotal	\$18,647.00	Subtotal	\$19,057.00
	Cayes Drive (patching only)								
Item No.	Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$300.00	\$300.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$300.00	\$300.00
3	HMA Surface, 9.5 mm 1.5", Type B	TONS	4	\$81.00	\$324.00	\$84.00	\$336.00	\$85.50	\$342.00
4	HMA Patching, 25.0 mm Base (4.5")	TONS	10	\$155.00	\$1,550.00	\$244.00	\$2,440.00	\$278.00	\$2,780.00
5	Compacted Aggregate #53	TONS	15	\$105.00	\$1,575.00	\$60.00	\$900.00	\$72.00	\$1,080.00
6	Geogrid	SYD	46	\$1.51	\$69.46	\$1.15	\$52.90	\$1.30	\$59.80
7	Asphalt Sealant	LFT	80	\$1.00	\$80.00	\$0.25	\$20.00	\$15.00	\$1,200.00
				Subtotal	\$7,998.46	Subtotal	\$6,978.90	Subtotal	\$6,061.80
	Anguilla Court (patching only)								
Item No.	Anguilla Court (patching only) Description	Unit	Quantity	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
Item No.		Unit LSUM	Quantity 1	Unit Price \$1,600.00	Extended \$1,600.00	Unit Price \$1,780.00	Extended \$1,780.00	Unit Price \$300.00	Extended \$300.00
	Description								
1	Description Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$300.00	\$300.00
1 2	Description Mobilization and Demobilization Maintenance of Traffic	LSUM LSUM	1 1	\$1,600.00 \$2,800.00	\$1,600.00 \$2,800.00	\$1,780.00 \$1,450.00	\$1,780.00 \$1,450.00	\$300.00 \$300.00	\$300.00 \$300.00
1 2 3	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B	LSUM LSUM TONS	1 1 1	\$1,600.00 \$2,800.00 \$81.00	\$1,600.00 \$2,800.00 \$81.00	\$1,780.00 \$1,450.00 \$84.00	\$1,780.00 \$1,450.00 \$84.00	\$300.00 \$300.00 \$85.50	\$300.00 \$300.00 \$85.50
1 2 3 4	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5")	LSUM LSUM TONS TONS	1 1 1 3	\$1,600.00 \$2,800.00 \$81.00 \$155.00	\$1,600.00 \$2,800.00 \$81.00 \$465.00	\$1,780.00 \$1,450.00 \$84.00 \$244.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00	\$300.00 \$300.00 \$85.50 \$278.00	\$300.00 \$300.00 \$85.50 \$834.00
1 2 3 4 5	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53	LSUM LSUM TONS TONS TONS	1 1 1 3 5	\$1,600.00 \$2,800.00 \$81.00 \$155.00 \$105.00	\$1,600.00 \$2,800.00 \$81.00 \$465.00 \$525.00	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00	\$300.00 \$300.00 \$85.50 \$278.00 \$72.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00
1 2 3 4 5 6	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid	LSUM LSUM TONS TONS TONS SYD	1 1 3 5 14	\$1,600.00 \$2,800.00 \$81.00 \$155.00 \$105.00 \$1.51	\$1,600.00 \$2,800.00 \$81.00 \$465.00 \$525.00 \$21.14	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10	\$300.00 \$300.00 \$85.50 \$278.00 \$72.00 \$1.30	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20
1 2 3 4 5 6	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant	LSUM LSUM TONS TONS TONS SYD	1 1 3 5 14	\$1,600.00 \$2,800.00 \$81.00 \$155.00 \$105.00 \$1.51 \$1.00	\$1,600.00 \$2,800.00 \$81.00 \$465.00 \$525.00 \$21.14 \$45.00	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25	\$300.00 \$300.00 \$85.50 \$278.00 \$72.00 \$1.30 \$15.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00
1 2 3 4 5 6 7	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant	LSUM LSUM TONS TONS SYD LFT	1 1 3 5 14 45	\$1,600.00 \$2,800.00 \$81.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal	\$1,600.00 \$2,800.00 \$81.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35	\$300.00 \$300.00 \$85.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70
1 2 3 4 5 6 7	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description	LSUM LSUM TONS TONS SYD LFT	1 1 3 5 14 45 Quantity	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price	\$1,600.00 \$2,800.00 \$81.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price	\$1,780.00 \$1,450.00 \$84.00 \$300.00 \$16.10 \$11.25 \$4,373.35	\$300.00 \$300.00 \$85.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal Unit Price	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70
1 2 3 4 5 6 7 Item No. 1	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization	LSUM LSUM TONS TONS SYD LFT Unit LSUM	1 1 3 5 14 45 Quantity 1	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00	\$1,600.00 \$2,800.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00	\$300.00 \$300.00 \$85.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00
1 2 3 4 5 6 7 Item No. 1 2	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM	1 1 3 5 14 45 Quantity 1 1	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00	\$1,600.00 \$2,800.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$1,450.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$300.00
1 2 3 4 5 6 7 Item No. 1	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B	LSUM LSUM TONS TONS SYD LFT Unit LSUM	1 1 3 5 14 45 Quantity 1	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00	\$1,600.00 \$2,800.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00	\$1,780.00 \$1,450.00 \$84.00 \$2244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$84.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00	\$300.00 \$300.00 \$85.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00
1 2 3 4 5 6 7 Item No. 1 2 3	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Pinell Court (patching only) Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5")	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS	1 1 3 5 14 45 Quantity 1 1 0.5 1	\$1,600.00 \$2,800.00 \$81.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$81.00	\$1,600.00 \$2,800.00 \$81.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00 \$40.50 \$155.00	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$1,450.00 \$42.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$85.50	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$300.00 \$42.75
1 2 3 4 5 6 7 Item No. 1 2 3 4	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS TONS	1 1 3 5 14 45 Quantity 1 1 0.5	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$81.00 \$155.00	\$1,600.00 \$2,800.00 \$81.00 \$465.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00 \$40.50	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$84.00 \$244.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$1,450.00 \$42.00 \$244.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$85.50 \$278.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$300.00 \$42.75 \$278.00
1 2 3 4 5 6 7 Item No. 1 2 3 4 5	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Pinell Court (patching only) Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS TONS TONS	1 1 3 5 14 45 Quantity 1 1 0.5 1 1.5	\$1,600.00 \$2,800.00 \$81.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$81.00 \$155.00 \$105.00	\$1,600.00 \$2,800.00 \$81.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00 \$40.50 \$155.00 \$157.50	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$1,450.00 \$42.00 \$244.00 \$90.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$85.50 \$278.00 \$72.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$300.00 \$42.75 \$278.00 \$108.00
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Pinell Court (patching only) Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Geogrid	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS TONS TONS SYD	1 1 3 5 14 45 Quantity 1 1 0.5 1 1.5 4	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$2,800.00 \$155.00 \$105.00 \$1.51	\$1,600.00 \$2,800.00 \$81.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00 \$40.50 \$155.00 \$157.50 \$6.04	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$1,450.00 \$42.00 \$42.00 \$42.00 \$4.60	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$300.00 \$278.00 \$278.00 \$72.00 \$1.30	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$300.00 \$300.00 \$42.75 \$278.00 \$108.00 \$5.20
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Pinell Court (patching only) Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Geogrid	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS TONS TONS SYD	1 1 3 5 14 45 Quantity 1 1 0.5 1 1.5 4	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00	\$1,600.00 \$2,800.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00 \$40.50 \$155.00 \$157.50 \$6.04 \$24.00	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$1,450.00 \$1,450.00 \$42.00 \$244.00 \$90.00 \$4.60 \$6.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$300.00 \$35.50 \$278.00 \$72.00 \$1.30 \$15.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$300.00 \$42.75 \$278.00 \$108.00 \$5.20 \$360.00
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6 7	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Beaumont Drive (patching only)	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS TONS TONS SYD LFT	1 1 3 5 14 45 Quantity 1 1 5 1 1.5 4 24	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$1,600	\$1,600.00 \$2,800.00 \$81.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00 \$40.50 \$155.00 \$155.00 \$157.50 \$6.04 \$24.00 \$4,783.04	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$1,450.00 \$42.00 \$244.00 \$90.00 \$4.60 \$6.00 \$3,616.60	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$300.00 \$35.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$300.00 \$42.75 \$278.00 \$108.00 \$5.20 \$360.00 \$1,393.95
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6 7 Item No.	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Pinell Court (patching only) Mobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Beaumont Drive (patching only) Description	LSUM LSUM TONS TONS SYD LFT Unit LSUM TONS TONS TONS SYD LFT	1 1 3 5 14 45 Quantity 1 1.5 1 1.5 4 24 Quantity	\$1,600.00 \$2,800.00 \$81.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal	\$1,600.00 \$2,800.00 \$81.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00 \$40.50 \$155.00 \$155.00 \$157.50 \$6.04 \$24.00 \$4,783.04	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$1,450.00 \$42.00 \$42.00 \$244.00 \$90.00 \$4.60 \$6.00 \$3,616.60	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$85.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal Unit Price	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$42.75 \$278.00 \$108.00 \$108.00 \$5.20 \$360.00 \$1,393.95
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6 7 Item No. 1	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant	LSUM LSUM TONS TONS SYD LFT Unit LSUM TONS TONS TONS SYD LFT	1 1 3 5 14 45 Quantity 1 1.5 4 24 Quantity 1	\$1,600.00 \$2,800.00 \$81.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$1.55.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00	\$1,600.00 \$2,800.00 \$81.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$2,800.00 \$40.50 \$155.00 \$157.50 \$6.04 \$24.00 \$4,783.04 Extended \$1,600.00	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$44.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$44.00 \$244.00 \$90.00 \$4.60 \$6.00 \$3,616.60 Extended \$1,780.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$45.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$42.75 \$278.00 \$108.00 \$108.00 \$5.20 \$360.00 \$1,393.95 Extended \$300.00
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6 7 Item No. 1 2	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Beaumont Drive (patching only) Description Mobilization and Demobilization Mobilization and Demobilization Maphalt Sealant	LSUM LSUM TONS TONS SYD LFT Unit LSUM TONS TONS SYD LFT Unit LSUM LSUM	1 1 3 5 14 45 Quantity 1 1.5 1 1.5 4 24 Quantity 1 1 1	\$1,600.00 \$2,800.00 \$81.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$1.55.00 \$1.55.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00	\$1,600.00 \$2,800.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$155.00 \$155.00 \$157.50 \$6.04 \$24.00 \$4,783.04 Extended \$1,600.00 \$2,800.00	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1.450.00 \$44.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,780.00 \$1,450.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$42.00 \$42.00 \$44.00 \$90.00 \$4.60 \$6.00 \$3,616.60 Extended \$1,780.00 \$1,780.00 \$1,450.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$278.00 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$300.00 \$300.00	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$42.75 \$278.00 \$108.00 \$5.20 \$360.00 \$1,393.95 Extended \$300.00 \$300.00
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6 7 Item No. 1 2 3	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Bit Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Beaumont Drive (patching only) Description Mobilization and Demobilization Mobilization and Demobilization Mobilization and Demobilization Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM LSUM	1 1 3 5 14 45 Quantity 1 1.5 4 24 Quantity 1 1 1 1 1 1	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00	\$1,600.00 \$2,800.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$157.50 \$157.50 \$6.04 \$24.00 \$4,783.04 Extended \$1,600.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00 \$81.00	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1.450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,780.00 \$1,450.00 \$1,450.00 \$1,450.00 \$84.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$44.00 \$244.00 \$90.00 \$4.60 \$3,616.60 Extended \$1,780.00 \$1,450.00 \$3,616.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$85.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$300.00 \$300.00 \$300.00 \$300.00	\$300.00 \$300.00 \$85.50 \$834.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$42.75 \$278.00 \$108.00 \$5.20 \$360.00 \$1,393.95 Extended \$300.00 \$1,393.95
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6 7	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Beaumont Drive (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Sealant	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM LSUM	1 1 1 3 5 14 45 Quantity 1 1.5 1 1.5 4 24 Quantity 1 1.5 4 24 Quantity 1 1.5 4 24	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$105.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$1.51 \$1.00	\$1,600.00 \$2,800.00 \$81.00 \$2525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$157.50 \$6.04 \$157.50 \$6.04 \$24.00 \$4,783.04 Extended \$1,600.00 \$4,783.04	\$1,780.00 \$1,450.00 \$84.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$4.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,450.00 \$1,450.00 \$1,450.00 \$84.00 \$244.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$42.00 \$244.00 \$90.00 \$44.60 \$6.00 \$3,616.60 Extended \$1,780.00 \$4.60 \$6.00 \$3,610.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$31.30 \$15.00 Subtotal Unit Price \$300.00 \$1.30 \$15.00 Subtotal	\$300.00 \$300.00 \$85.50 \$834.00 \$360.00 \$18.20 \$675.00 \$2,572.70 \$2,572.70 \$300.00 \$300.00 \$42.75 \$278.00 \$108.00 \$1,393.95 Extended \$360.00 \$1,393.95
1 2 3 4 5 6 7 Item No. 1 2 3 4 5 6 7 Item No. 1 2 3	Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Pinell Court (patching only) Description Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Bit Surface, 9.5 mm 1.5", Type B HMA Patching, 25.0 mm Base (4.5") Compacted Aggregate #53 Geogrid Asphalt Sealant Beaumont Drive (patching only) Description Mobilization and Demobilization Mobilization and Demobilization Mobilization and Demobilization Mobilization and Demobilization Maintenance of Traffic HMA Surface, 9.5 mm 1.5", Type B	LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM TONS TONS SYD LFT Unit LSUM LSUM LSUM	1 1 3 5 14 45 Quantity 1 1.5 4 24 Quantity 1 1 1 1 1 1	\$1,600.00 \$2,800.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$155.00 \$105.00 \$1.51 \$1.00 Subtotal Unit Price \$1,600.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00	\$1,600.00 \$2,800.00 \$465.00 \$525.00 \$21.14 \$45.00 \$5,537.14 Extended \$1,600.00 \$157.50 \$157.50 \$6.04 \$24.00 \$4,783.04 Extended \$1,600.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00 \$81.00	\$1,780.00 \$1,450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1.450.00 \$244.00 \$60.00 \$1.15 \$0.25 Subtotal Unit Price \$1,780.00 \$1,780.00 \$1,780.00 \$1,450.00 \$1,450.00 \$34.00	\$1,780.00 \$1,450.00 \$84.00 \$732.00 \$300.00 \$16.10 \$11.25 \$4,373.35 Extended \$1,780.00 \$44.00 \$244.00 \$90.00 \$4.60 \$3,616.60 Extended \$1,780.00 \$1,450.00 \$3,616.00	\$300.00 \$300.00 \$85.50 \$278.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$85.50 \$278.00 \$72.00 \$1.30 \$15.00 Subtotal Unit Price \$300.00 \$300.00 \$300.00 \$300.00 \$300.00 \$300.00	\$300.00 \$300.00 \$85.50 \$834.00 \$18.20 \$675.00 \$2,572.70 Extended \$300.00 \$42.75 \$278.00 \$108.00 \$5.20 \$360.00 \$1,393.95 Extended \$300.00 \$1,393.95

7	Asphalt Sealant	LFT	40	\$1.00 Subtotal	\$40.00 \$5,343.60	\$0.25 Subtotal	\$10.00 \$4,185.50	\$15.00 Subtotal	\$600.00 \$2,281.50
	Heckel Road - curb ramps at Pebble Place, Flagstone, and I	Delk							
1	Mobilization and Demobilization	LSUM	1	\$1,600.00	\$1,600.00	\$1,780.00	\$1,780.00	\$300.00	\$300.00
2	Maintenance of Traffic	LSUM	1	\$2,800.00	\$2,800.00	\$1,450.00	\$1,450.00	\$300.00	\$300.00
3	Curb Ramp	EACH	6	\$3,800.00	\$22,800.00	\$3,660.00	\$21,960.00	\$3,660.00	\$21,960.00
4	Sidewalk	LFT	30	\$56.00	\$1,680.00	\$54.00	\$1,620.00	\$54.00	\$1,620.00
5	Line, Remove (crosswalk at Shoreham Drive)	LFT	68	\$4.00	\$272.00	\$4.95	\$336.60	\$4.00	\$272.00
6	Transverse Marking, Thermoplastic, Crosswalk Line, White, 24	LFT	320	\$9.00	\$2,880.00	\$5.95	\$1,904.00	\$9.00	\$2,880.00
				Subtotal	\$32,032.00	Subtotal	\$29,050.60	Subtotal	\$27,332.00
	CONTRACT TO		\$650,016.63		\$681,597.55		\$765,644.25		